Efficiency vs P,

10.05
o
9.045
>
20.04
@
2.035
[J]
0.03
0.025
0.02
0.015
0.01
0.005

...............................

...............................

...............................

=)

+
ki
+
+
+

Ratio

0.9
0.8

0.7

=
N

1 10

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_mod-127

=0.05
[2]
§.045
2
§0.04
Q
$9.035
3]
0.03
0.025
0.02
0.015
0.0
0.005

Ratio
=

0.9

Efficiency vs ¢

20.05¢
o F
2.045 ;
Q .

0.015k a
0.01 g
0.005k: bt
AFL i .i
2 ]
T H: E
2 1;':'- T
0.955-'

TP @




	Contents
	Page 1


